WET THRUST RULES VERSION 1

These rules are based on the very successful science fiction space combat rules published by Ground Zero Games, Full Thrust(FT).  The basic mechanisms are therefore taken directly from FT and are only varied as noted in this document.

Sequence of play.

1.  Write orders.
2.  Move ships.
3.  Move aircraft.
4.  Fire ships.
5.  Fire aircraft.
6.  Take threshold check

7.  Damage control

8.  End of turn.
Ships systems

There are many systems that make up a ship of war.  All of the systems fall into a few main categories.

1.  Propulsion.
2.  Navigation.
3.  Offensive armament.
4.  Defensive systems.
5.  Ancillary systems.
All systems are represented on the ships record sheet as a number of boxes or symbols.

1.  Propulsion.

Propulsion systems represent the areas of a vessel concerned with providing and delivering the motive power for the ships.  There are three propulsion systems.

a.  Boiler rooms, represented by a solid square symbol.

b.  Propellers, represented by a 3 vane propeller symbol.
c.  Fuel stores, represented by a record track of boxes.
a.  Boiler rooms

These are the power producing parts of the vessel.  A hit to a boiler room will cause a drop in the vessels top speed.  Each boiler room produces an identical proportion of the ships power and a hit to a boiler room causes that proportion to be lost from the vessels top speed.

For example:  The Bismarck has four boiler room boxes, each producing a quarter of the ships 8” per turn top speed.  If one of the boilers was hit and destroyed the top speed would be reduced to 6”, one quarter of 8” is 2”, 8” - 2” = 6”.

When all boilers have been destroyed the ship is dead in the water and cannot move.

When a boiler is hit roll 1D6:

1-4, the number of additional hits taken.

5-6, no additional effect.

If additional hits are taken roll a hit dice.  A hit symbol indicates a fire has started.

b.  Propellers.

The propellers turn the boiler power into motive power for the vessel.  They also provide a means of controlling the application of that power.  A hit to the propeller systems restricts the ability of the ship to accelerate and decelerate.  Each propeller provides an identical proportion of the acc/dec rate for the ship and a hit to a propeller causes that proportion to be lost.

For example:  The Bismarck has two propellers and acc/dec rates of 1”/2” per turn.  When one of the propellers is hit  and destroyed the acc/dec rates are ½”/1” per turn.

When all propellers have been hit the ship cannot change speed and will continue at its last setting.

c.  Fuel Stores.

Fuel stores represent the oil storage of the vessel.  In the tactical engagements represented by these rules fuel loss is not a factor.  Fuel stores are not lost as other systems at a threshold check, but automatically each time a check point is reached.  Damaged fuel boxes are marked with an X.  Empty fuel boxes are marked with a single line /.  When taking damage the player may lose empty fuel stores first.

Each time a damage box line is complete and a threshold check due, cross off a fuel store automatically.  In addition for every 5 points of damage from a single salvo lose one fuel box.

The loss of fuel stores has an effect in two ways.  Firstly, it adversely effects the ships ability to disengage for combat and secondly, restricts the strategic top speed of the vessel.

For disengagement, see the section in the rules later.

2.  Navigation.

These systems deal not only with the navigation of the vessel but its steering.

There are three main systems.

a.  Radar, represented by a radar antennae.

b.  Rudder, represented by a solid inverted triangle.

c.  Reconnaissance aircraft, represented by a clear triangle.

a.  Radar

Radar is a system which allows a ship to track and target an opposing vessel.  In this respect it has both a strategic and tactical component.

Strategically, all detection and disengagement tests are effected by the radar capability of the tracking ship.

A functioning radar gives the ship a bonus dice to hit at any range.

b.  Rudder

The rudders are the main steering capability of the ship.  As these are lost the ability of the vessel to steer in anyway is degraded.

Each vessel has a number of levels of turning capability.  For example, the Bismarck has two levels:

Level 1 Maneuvers - 1 point per turn.

Level 2 Maneuvers - 2 points per turn, disruptive above ½ speed. 

This means that the Bismarck may turn one point in any turn or two points in any turn.  The disruptive note means that if a level two maneuver is attempted above ½ speed, no main armaments may be fired.

To make turns a template is used.  Place the template so the arrow if facing in the same direction the ship is traveling.  For turns to port place the template to the left of the ship, for starboard turns to the right.  Now move the ship to the numbered part of the template for the type of turn, 1 or 2 points, desired.

Turns are carried out at either the middle point of the move, for 1 point turns, or middle and end points of the turn, for turns of 2 or more points.  For example, Bismarck makes a level 2 maneuver to port at a speed of 8” per turn.  The ship would move 4” forward, turn one point, move the last 4” and then turn the second point.  A  destroyer, HMS Antelope, makes a three point turn to starboard, at speed 10”.  The ship moves 5” forward, makes a two point turn, moves the last 5” and then makes a single point turn.

It is possible for ships to make a turn to port and starboard in the same turn.

Ships plot their move in advance turn by turn.  A simple code is used to plot the vessels path.

x - number

A - accelerate

D - decelerate

P - port

S - starboard

So a ship making a 1 one point turn to port with no speed change would plot, 1P.  A ship making a two point turn to starboard and a one point turn to port while accelerating by two inches would plot, 2A2S1P.  A ship making this type of movement, one in which a turn to both port and starboard is made in a single turn, under fire can claim to be ‘salvo chasing’.

If noted on the ships control sheets(SCS) an evasive move may be plotted, by putting E in the move plot.  Evasive ships may not turn, accelerate or decelerate, but have level 3 deck and belt armor for the turn.  This is available mainly to escort type ships.

For each rudder hit and destroyed a maneuver level is lost.  For example, the Bismarck has two rudders, if one is lost the ship looses its level two maneuver ability.

When all rudders are lost the ship can no longer steer and it carries on with the same turn orders as last received.

Accidental collisions can happen causing damage to both ships.  Calculate the damage as follows:

Roll 1D6 and add:

+2
Submarine

+4
Destroyer

+6
Cruiser

+8
Battleship/Aircraft Carrier

Only Destroyers can make deliberate ram attempts.  To do this they must take a bravery(stupidity?) test.

Roll 1D6, modify by:

-1 
for each damage box unchecked.

+2
if target is a submarine.

+2
if target is battleship/battlecruiser attacking merchant or Aircraft carrier.

1 - 5
No ram allowed, must steer away from proposed target.

6
Ram.

Damage calculated as for collisions.

c.  Reconnaissance Aircraft

These are unarmed aircraft used to give ships some idea of what is over the horizon and to play a part in noting fall of shot in a tactical engagement.  All carriers and most large ships carry Reconnaissance aircraft.

These aircraft are unarmed but very high endurance.

To spot for the ships guns the Reconnaissance aircraft must be within 6” of the target.  A bonus of 1 Hit dice is added for a Reconnaissance aircraft.

The endurance over the table during a tactical engagement is unlimited.

Recovery of a Reconnaissance craft requires the ship to come to a stop.  The Reconnaissance plane then moves alongside and the recovery takes an additional turn.

No ship can instigate or challenge a disengagement attempt if it has recovered any Reconnaissance aircraft.

3.  Offensive Armament
These are the striking force of the vessel.  There are a number of offensive systems which may be available on  a vessel.

a.  Guns of various type, represented by round symbol containing a letter designation and points to indicate arc of fire.

b.  Torpedo launchers, represented by thin tube with a black tip oriented in the arc of fire.

c.  Aircraft squadrons, represented by a triangle black for dive bomber, blue for fighter or green for torpedo planes.

a.  Guns

There are four gun designations available on all ships.  ‘A’ class batteries are the biggest, ‘D’ class the smallest.  Firing of the guns is a two stage process.  First a check is made to see if the shells fired have hit the target and then a check on the damage they have caused.

The number of targets a ship can fire on is governed by the number of fire control systems it has.  For example, the Bismarck has four fire control systems and can therefore engage four targets with gunnery per turn.

Each individual battery can fire only once in a turn.

All firing from one ship is completed before any other ship can fire.

Fire is conducted in turns ship by ship.  The order of firing is up to the fleet admiral. 

The firing procedure is a follows:

i.  determine number of hit dice

ii.  roll to hit

iii.  if a hit scored roll  to damage

iv.  apply damage

Threshold damage is applied after all firing is complete.

i.  Determine number of hit dice

The basic level of hit dice is determined by the amount of shots the shooter has made at the target.  There are three levels of this:

Red 

-1st shot
1 hit dice(HD)

Amber 
- 2nd shot
2 HD

Green 
- 3rd shot
3 HD

These indicators are for consecutive shots.  If a target is not fired on in a turn the level drops by one, to a minimum of Red.

To this basic figure the following modifiers are made:

+1 HD ship firing broadside

-1 HD target making smoke

-1 HD firer making self protecting smoke

+/- 1 HD German fire control, 1D6: 1-3 = -1, 4-6 = +1

+1 HD radar targeting available

+1 HD hit on previous turn

+1 HD ships Reconnaissance aircraft within 6” of target

-x HD number of fire controls destroyed in the previous turn

-x HD weather modifier

-1 HD target behind smoke screen

-1 HD target salvo chasing

A broadside is all of the biggest guns firing at a single target.

The German fire control check is made once per ship per game the first time the ship fires.

Weather
Modifier

Calm
0

Squalls 
1

Driving weather/fog
2

Storm
3

Gale
4

For example, the Bismarck has four ‘A’ class batteries and four ‘C’ class.  The ship targets HMS Hood with all 4 ‘A’ batteries.  As this is the Bismarck’s first shot at the Hood it is a red shot, 1 HD.  Bismarck is firing all its main armament at the Hood so it has the broadside bonus, +1 HD.  As it is a German ship it rolls a dice to see is the fire control is good or bad, rolls a 5 so +1 HD.  The Bismarck’s radar has been knocked out in a previous engagement so it gets no bonus for that.  Hood is not making smoke, so the Bismarck will roll 3HD.  Next turn if nothing has changed and the Bismarck again fires at the Hood, it will be an amber target and roll 4 HD.

ii.  Roll the HD

The number of dice calculated are rolled.  Only one hit symbol is needed for the whole salvo to strike and cause damage.

iii.  Determine Damage

Damage is calculated by rolling a number of D6 depending on type of battery and range.  This is shown in the following table:

Battery/Range
0 - 12”
12 - 24”
24 - 36”
36 - 48”

A
4
3
2
1

B
3
2
1


C
2
1



D
1




The amount of damage caused is:

For each 6
- 3 damage points caused.

For each 5
- 2 damage points caused.

For each 4
- 1 damage point caused.

iv.  Apply Damage

Each point of damage is taken from the highest damage box line.  When the line is fully marked off a threshold check is taken.  A threshold check consists of a roll against all the systems on the ship to see if they have been damaged in the battle.

To take a threshold check look at the number in brackets at the end of the completed damage box line.  Roll a D6 for each system on the ship.  If the roll equals or exceeds the number the system is lost.

Threshold checks are taken after all firing has been completed, one turn of fire is considered to be simultaneous.  It is possible to have to take more than one threshold check at the same time.  In this case the checks are taken in order of occurrence.

Some systems have special effects during threshold checks see each system for these rules.

Damage can be prevented by the level of armor on the ship.  There are two types of armor, belt and deck.  Armor mitigates the damage as follows:

Level 1 - 
each 6
- 2 damage points caused



each 5
- 1 damage point caused

Level 2 - 
each 5/6
- 1 damage point caused

Level 3 - 
each 6
- 1 damage point caused

Hits are resolved against deck armor above 24” range, and against belt armor under this.

b.  Torpedo Launchers

Torpedo attacks are resolved in salvos.

Torpedoes have a maximum range of 8”.

To determine if a salvo has hit roll a number of D6 equal to the number of torpedoes in the salvo, so a squadron of six Swordfish torpedo bombers would role six D6 to hit.

On each of the D6 the number required to hit is:

Number of torpedoes in the salvo or less at 0 - 4”

Number of torpedoes in the salvo - 2, or less at 4 - 8”

This Is modified:

+4 if the target is stationary

-2 if the target is plotting evasive maneuvers

-2 if the attack is on bow or stern arc

-2 target obscured by smoke screen

So if the squadron above attacked the Bismarck ,steaming normally, at 6” each D6 would need 1 - 4, six planes minus two for the range, to hit.

Each hit does 1D6 minus the level of belt armor of damage.

Modified by:

+4 the target is stationary.

In our example the Bismarck takes four hits.  The hit rolls are 4, 2, 3, 5.  With the Bismarck’s level 3 belt armor the ship takes 3 points of damage.

Aircraft mounted torpedoes are a ‘one shot’ weapon.  Ship mounted launchers have a number of reloads.

Salvos of torpedoes cannot be combined for greater effect.  They must be calculated by squadron or ship.

Torpedoes have a chance of doing extra damage to a vessel.  If a salvo of torpedoes causes any damage to a ship.  Roll a D20 on the following table:

Roll
Effect

1
No additional effect

2
No additional effect

3
No additional effect

4
No additional effect

5
No additional effect

6
Ship takes an additional 1 damage

7
Ship takes an additional 2 damage

8
Ship takes an additional 3 damage, lose 1 fuel box

9
Ship takes an additional 4 damage, lose 1 fuel box

10
Ship takes an additional 5 damage, 1 fire started, lose 1 fuel box

11
Rudder struck, cross off one rudder system, no additional effect if hit on bows

12
Boiler room destroyed, cross off a boiler room, 1D6 of additional damage, no additional effect if hit on bows

13
Fuel tank punctured, loose a fuel box, 1 fire started

14
Propeller struck, cross off a propeller box, no additional effect if hit on bows

15
Small caliber magazine struck, take 1D6 additional damage

16
Magazine struck, take additional 2D6 + 6 damage

17
Ship holed takes an additional 1 hit per turn until damage controlled

18
Ship holed takes an additional 2 hit per turn until repaired.  Roll for successful damage control twice.  Maximum speed reduced by 25%

19
Ship severely holed below waterline, takes an additional 3 damage per turn.  Not repairable during battle.  Maximum speed halved.

20
Catastrophic damage, the ship breaks in two sinks at once. 

c.  Aircraft

There are five types of aircraft in the game.  Only four of them may be launched from a ship these are:

Fighters(F)

Dive bombers(D)

Torpedo bombers(T)

Reconnaissance(R) - see details in section above.

The other type is Land based bombers(B).

Of the four ship launched aircraft the first three are combat aircraft, R type aircraft are covered in a previous section.

All aircraft operate in squadrons.  For this game the size of a squadron for all types will be six aircraft.  Each symbol on the ship display represents one squadron, or single Reconnaissance plane.

All aircraft, unless noted move at 16” per turn and must move at least 8”.  No movement needs to be plotted aircraft.

Aircraft can make as many turns as required during a turn.  Aircraft can therefore move anywhere in a 16” diameter circle from there present position and end up facing in any direction.

Tactical endurance over the table is 6 turns for all ship launched aircraft.

All ship launched aircraft are only available on specialized aircraft carriers.

Carriers can launch or retrieve, not both, up to 2 squadrons per turn.  On the launch turn aircraft are placed within 8” of the launching ship, the launch turn does not count toward endurance limits.  To retrieve aircraft the squadron must end its turn on the flight deck of the carrier.  Carriers may re-arm aircraft, it takes 1D6 turns.

Damaged squadrons may be reorganized onto new units or be left as they are.  Squadrons must consist of the same type of aircraft.

When an aircraft squadron is launched a note must be made on the ship display to show which are airborne and which are not.  If a aircraft symbol is destroyed during a threshold check and the aircraft are still on board, they are lost.  Any aircraft symbol destroyed on a carrier adds +1 to the re-arming dice roll.  So if a carrier has three aircraft symbols destroyed turn around time is 1D6 + 3 turns.

Fighters

These are small aircraft designed to shoot down other aircraft.  Fighters move at 24” per turn.

They can be moved as normal for aircraft but may also plot two special types of movement, CAP - combat air patrol or Escort.

If a fighter squadron plots CAP it is placed next to its mother carrier and moves with it.  Any aircraft attacking the carrier, or a ship with ADF escorting the carrier, must first suffer attack from CAP fighters.

Escort plots are used by fighters to accompany other aircraft squadrons, usually bombers, and defend them.  Escort squadrons move alongside the aircraft they are protecting.  Enemy fighters attacking the bombers must first deal with the escort fighters.  After the bombers have completed their mission both bombers and escorts must return to there carrier for re-arming.

Fighters cannot attack ships.

There are two ways in which fighters may attack other aircraft.  Firstly the fighter squadron may be moved to within 3” of another aircraft group, not fighters, and fire at it if it is within their forward arc.  Fighters may move into base to base contact with other fighters and ‘dogfight’.

Fighters fire first versus other aircraft types.  Dogfights are simultaneously.

Fire resolution is as follows:

Roll 1D6 for each remaining aircraft in the squadron.

For fighters each 6 two enemy aircraft destroyed, 4,5 one enemy aircraft destroyed.

For other aircraft types each 5,6 one enemy aircraft destroyed.

Dive Bombers

Dive bombers are aircraft that attack shipping by diving from a high altitude to drop bombs at a low altitude.

After each attack they need to return to their carrier and re-arm.

Dive bomb attacks are resolved by squadron.

Dive bombers must be directly over their target to attack.

To determine if a bomb run has hit roll a number of D6 equal to the number of aircraft in the squadron, so a squadron of six Stuka dive bombers would role six D6 to hit.

On each of the D6 the number required to hit is:

Number of bombers in the squadron or less 

This Is modified:

+4 if the target is stationary

-2 if the target is plotting evasive maneuvers

So if the squadron above attacked the Hood ,steaming evasively, each D6 would need 1 - 4, six planes minus two for the evasive maneuvers, to hit.

Each hit does 1D6 minus the level of deck armor of damage.

Modified by:

+4 the target is stationary.

In our example the Hood takes 2 hits.  The hit rolls are 4, 2.  With the Hood’s level 0 deck armor the ship takes 6 points of damage.

Squadrons of bombers cannot be combined for greater effect.  Effects must be calculated by squadron.

Bombs have a chance of doing extra damage to a vessel.  If a bomb run causes any damage to a ship.  Roll a D20 on the following table:

Roll
Effect

1
No additional effect

2
No additional effect

3
No additional effect

4
No additional effect

5
No additional effect

6
Ship takes an additional 1 damage

7
Ship takes an additional 2 damage

8
Ship takes an additional 3 damage, 1 fuel box

9
Ship takes an additional 4 damage, 1 fuel box

10
Ship takes an additional 5 damage, 1 fire started, 1 fuel box

11
Turret struck, cross off one turret highest class

12
Bridge struck, cross off bridge

13
Fuel tank punctured, loose a fuel box, 1 fire started

14
Radar struck, cross off radar system

15
Small caliber magazine struck, take 1D6 additional damage, 1 fire started

16
Magazine struck, take additional 2D6 + 6 damage, 1 fire started

17
Ship holed takes an additional 1 hit per turn until damage controlled

18
Ship holed takes an additional 2 hit per turn until repaired.  Roll for successful damage control twice.  Maximum speed reduced by 25%

19
Ship severely holed below waterline, takes an additional 3 damage per turn.  Not repairable during battle.  Maximum speed halved.

20
Catastrophic damage, the ship breaks in two sinks at once. 

Torpedo Bombers

Torpedo bombers are aircraft that attack shipping by dropping torpedoes at very low altitude.

After each attack they need to return to their carrier and re-arm.

Torpedo attacks are resolved by squadron.

See torpedo rules for details.

Land Based Bombers

These are aircraft that operate from airfields and drop their bomb payloads from high altitude.

After each attack they need to return to their airfields.  They are a ‘one shot’ weapon never reappearing after they have left the table.

Bomber attacks are resolved by squadron.

Bombers must be directly over their target to attack.

To determine if a bomb run has hit roll a number of D6 equal to the number of aircraft in the squadron, so a squadron of six Dornier bombers would role six D6 to hit.

On each of the D6 the number required to hit is:

Number of bombers in the squadron or less 

This Is modified:

+3 if the target is stationary

-3 if the target is plotting evasive maneuvers

So if the squadron above attacked the Hood ,steaming evasively, each D6 would need 1 - 3, six planes minus three for the evasive maneuvers, to hit.

Each hit does 1D8 minus the level of deck armor of damage.

Modified by:

+3 the target is stationary.

In our example the Hood takes 2 hits.  The hit rolls are 4, 2.  With the Hood’s level 0 deck armor the ship takes 6 points of damage.

Bombs have a chance of doing extra damage to a vessel.  If a bomb run causes any damage to a ship.  Roll a D20 on the following table:

Roll
Effect

1
No additional effect

2
No additional effect

3
No additional effect

4
No additional effect

5
No additional effect

6
Ship takes an additional 1 damage

7
Ship takes an additional 2 damage

8
Ship takes an additional 3 damage, 1 fuel box

9
Ship takes an additional 4 damage, 1 fuel box

10
Ship takes an additional 5 damage, 1 fire started, 1 fuel box

11
Turret struck, cross off one turret highest class

12
Bridge struck, cross off bridge

13
Fuel tank punctured, loose a fuel box, 1 fire started

14
Radar struck, cross off radar system

15
Small caliber magazine struck, take 1D6 additional damage, 1 fire started

16
Magazine struck, take additional 2D6 + 6 damage, 1 fire started

17
Ship holed takes an additional 1 hit per turn until damage controlled

18
Ship holed takes an additional 2 hit per turn until repaired.  Roll for successful damage control twice.  Maximum speed reduced by 25%

19
Ship severely holed below waterline, takes an additional 3 damage per turn.  Not repairable during battle.  Maximum speed halved.

20
Catastrophic damage, the ship breaks in two sinks at once. 

Squadrons of bombers cannot be combined for greater effect.  Effects must be calculated by squadron.

In view of the fact that these aircraft operate at high altitude they are immune to ship mounted PDF, but can still be hit by ADF.

4.  Defensive Armament

This is a representation of the defense of the ship.  There are two defensive systems:

a.  Point defense weapons, represented by a round quartered box.

b.  Area defense weapons, represented by a square quartered box.

Both area and point defense systems are used to defend the ship against aircraft attack.

a.  Point Defense

Point defense(PDF) is a purely self defense system for a ship.  Any aircraft attacking the ship and within 6” can be engaged by the point defense.

PDF cannot shoot at high level bombers or Reconnaissance aircraft.

b.  Area Defense

Area defense(ADF) is a more flexible system which allows ships to defend each other.  Aircraft can be engaged with ADF if they are attacking the ship carrying it, or if the ship carrying it is within 6” of another ship being attacked.  This allows ships with ADF capability to screen other vessels against aircraft attack

 Resolution of both types of air defense is identical.  For each system firing roll 1D6:

For each 6
- 2 aircraft destroyed

For each 4/5
- 1 aircraft destroyed

ADF fire against high level bombers and Reconnaissance aircraft has a -2 modifier.

5.  Ancillary Systems.

These are the systems related to control of the vessel and its ability to fight:

a.  Bridge, represented by a B, secondary bridge b.

b.  Fire-control, represented by a solid black circle.

c.  Damage control, represented by a spanner in a circle.

d.  Magazines, represented by an M.

a.  Bridge

This is the main control function of the ship.  If the bridge is destroyed the ship cannot be ordered until either the bridge has been repaired or a secondary bridge made functional.

If a ship looses its bridge it will carry on following the last movement and fire orders it had plotted.

PDF and ADF systems will continue to operate normally.

Carriers can recover but not launch aircraft.

The bridge can be repaired, see damage control section.

If a secondary bridge is available it takes one clear turn to transfer operations to it.  The ship may then function normally.

b.  Fire Control

Fire control represents the ability of a ship to manage and coordinate its firing.

A ship may engage as many targets, vessels, as it has fire control systems.

PDF, ADF and torpedo systems will continue to function as long as there is at least one intact fire control on the ship.

For each fire control lost in a previous turn the ship looses a HD on its fire.

Once all fire control has gone the ship may not fire any of its weaponry.  Carriers may still launch and recover aircraft.

c.  Damage Control

This represents the crews efforts to make do and repair vital systems on board the vessel or to put out fires.

Damage control and fire fighting is performed in the damage control segment of the turn.  

For each system to be repaired roll 1D6.

1
-
System is not repairable no more tries allowed.  Roll additional 1D6, 1,2 - fire started.

2 - 4
-
No effect may try again next turn.

5 - 6
-
System repaired.

All fires on the ship must be fought in the damage control segment.

For each fire being fought roll 1D6.

1
-
Fire rages out of control, start a new fire.

2 - 3
-
No effect on fire may try again next turn.

4 - 6
-
Fire under control.

If at the end of a damage control turn all the fire boxes on the ship control sheet are marked off the vessel is a blazing hulk and must be abandoned, the ship is lost.

Damage control systems cannot themselves be repaired by damage control.

d.  Magazines

These represent the ammunition storage facilities on a ship.  These are only marked on older vessels that have poorly armored storage facilities.

When a magazine is struck during a threshold check, immediately take 2D6 + 6 additional hits.  If this forces another threshold check complete the first and then do the next.

If two magazine boxes are crossed off during one threshold check the ship explodes and is lost.

Some magazines are particularly vulnerable and have modifiers attached to them, see ship control sheets.

For each magazine hit 1 fire is started.

Additional Rules

The last part of these rules cover sets of special rules for some types of ships.

Submarines

Submarines are vessels primarily designed to move and fight under the surface.

Submarines appear on the table in one of three modes:

i.  Submerged deep

ii.  Submerged periscope depth

iii.  Surfaced

Submarines in mode i.  are not placed on the table.  Their movement is plotted on a scale map.  Vessels in this mode cannot attack.

Submarines in mode ii.  are also initially not placed on the map.  Attacks can be made on surface vessels via torpedo.  An indicator as to the position of submarines in mode ii.  is made if they are detected. See Destroyer rules later.

Submarines in mode iii.  are placed on the table and can make attacks on surface ships using gunnery.  They may also have PDF capability.

In torpedo attacks from submarine a salvo is governed by the number of torpedo tubes available.  Rules concerning torpedo attacks are in the section above.

Surface attacks and PDF are handled as for surface ships.

Destroyers

Destroyers are small vessels designed mainly to escort larger ships and provide cover from submarine and aircraft attack.

To fulfill their escort role destroyers have ADF systems.

They are also able to plot a special evasive movement.  This allows them to travel in a straight line on their last heading at their current speed, but effectively have level 3 deck and belt armor.  This represents a small ship zigzagging around but keeping the same general heading.

To fulfill there submarine hunting mode they have sonar systems and specialized anti-submarine armament.

Any destroyer that comes within 6” of a submarine in mode i.  or 12” of a submarine in mode ii.  has detected it.  A marker is placed on the table to indicate its position.

In mode i.  the Destroyer must get to within 3” to make an attack run.  In mode ii.  the destroyer can either make a normal surface attack with its guns or try to get within 3” to make an attack run.

If the submarine is in mode iii.  it is treated in all ways like a normal surface vessel.

Once a submarine is detected it has many options available to prevent attack.  Simply it could attack the destroyer and try and sink it before it gets sunk.  It can try and plot an evasive course to get out of range of the attacking destroyer.

In mode i.  an additional option is to ‘run silent’.  The submarine hangs dead in the water and the destroyer has an additional to hit modifier applied to its attack.  In order to take up the attack option the submarine would need to move to mode ii.  which will take one turn.

In mode ii.  the special option is to dive to mode i.  This can be done in two ways, a normal drive or a crash dive.  A normal dive takes a turn and only reduces the detection range from 12” to 6” inches.  A crash dive is more risky but allows the dive to mode i.  this turn, which could prevent detection.  If a crash dive is attempted roll 1D10.

1
-
A hatch fails to seal the submarine fills with water and sinks

2 - 3    -
A seaman traps his arm in the hatch and the dive is aborted.  Unfortunately the submarine surfaces, your submarine is now in mode iii.

4 - 8    -
The dive is made successfully.

9 - 10  -
A brilliant maneuver.  You have the option to ‘run silent’.

In mode iii.  the options are to dive to mode ii.  or to crash dive to mode i.  If a crash dive is attempted apply a modifier of -1 to the dice roll.

If a Destroyer attack takes place it is carried out in a similar way to a torpedo attack.  The range of the anti-submarine munitions is for 0 - 3”.  On the ship control sheet these are represented by circle intersected by a black triangle.  The base of the triangle points toward the facing of the weapon.  At range 0” all weapons are facing.

These munitions are fired together in salvos.  To hit roll 1D6 equal to or under number in the salvo.  A submarine running silent has a -2 to the number in the salvo.

Damage per hit is 1D6 minus the range in inches.

Smoke and Disengagement

All surface ships can ‘make smoke’.  It is done either as a part of a disengagement attempt or in an attempt to prevent other ships from having a clear target.

Only ships of type CL or lighter may make smoke to hide a target.  Any ship may make smoke to attempt disengagement.

Disengagement can be attempted in the end of turn segment.  To do so the ship must plot a move to its full attainable speed turn away from enemy shipping and make smoke in the order segment.

If the disengagement is not challenged it is automatically successful.

If challenged a check must be made.

Take the difference between the top speed of the disengaging vessel and the nearest enemy vessel which is paralleling the course or moving toward the checking ship.  This figure can be minus or plus.

Apply the following modifiers:

-1
for every two fuel stores lost.

-1
if the enemy ship has a functional radar

+1
for smoke

+x
for the weather modifier

Roll 1D6 equal to or less than this number to disengage.

If successful the ship is removed from play.  If not successful a further attempt can be made next turn.

Example:

Bismarck (top speed = 6”) is trying to get away from a British task force consisting of King George V and Suffolk.  Bismarck plots a turn away from the British ships moves to top speed and makes smoke(+1).

The Suffolk(top speed = 7”) is the nearest British ship and tries to stop Bismarck from disengaging.  Suffolk has no radar(0) having lost it earlier.  The weather is squally rain(+1).

To calculate the disengagement attempt is as follows:

Difference in top speeds(6 - 7)
-
-1

Smoke



-
+1

Radar




-
-0

Weather



-
+1

Total




-
+1

Bismarck must roll a one on a D6 to disengage.

Target obscuring smoke maybe laid in two forms, self protection and in a barrier to block sight to another ship.

To use a self protecting smoke screen indicate make smoke in the comment field of the orders form, see later.

To make a screen indicate smoke screen in the comment field.  A smoke screen extends from the stern of the ship for the length of its move, if a ship move 4” in the turn it is laying the screen this is its length.  The screen persists for the following number of turns dependent on the weather:

Weather
Number of turns

Calm
3

Squalls 
2

Driving weather
1

Storm
0

Gale
0

In turns where the weather is storm, gale or fog no smoke can be laid.

Sample Order form:

Turn Number
Movement Plot
Speed
Comment

1
2A1P
6
Make smoke

2

6
Make smoke

3
2D1S
4
Make smoke































Note on turn 2 a blank movement plot indicates no change in course or speed.

Notes on fleet doctrine and tactics

Background

At the start of WW2 tactics for fleet actions had, to a certain extent, not moved forward much since Napoleonic days.  The main tactic remained to engage the enemy in a broad side engagement, hopefully where you had crossed his line and could fire at his ships abeam or from the stern.

True the gunnery had improved but basically this was it.  Into such an ‘old fashioned’ type of engagement were thrown four important new elements.  The first of these was the aircraft.

If at the beginning of WW2 the Battleship (BB) could be said to be the ‘Queen of the Seas’ then at its end this position was held by the Aircraft Carrier (CV).  Of all the major powers the first to embrace the importance of naval air power were the Japanese.  America had also seen the coming of air power to naval engagements but Britain was far behind.  The Germans had almost entirely neglected the use of naval air power relying instead on the big gun ships.

One of the major points of advantage the CV had was that it could launch its attacks from over the horizon out of range of the guns of the enemy.  A disadvantage was that the CV needed many smaller ships to protect it from both surface and submarine attack.

This brings us to the second change the advent of a reliable and ocean going submarine force.  This force could move and attack again at the start of WW2 with reasonable impunity.  It also meant that major surface ships were not the invulnerable fortresses they once had been, the Royal Oak incident for instance.

Along with submarines and equal in importance was the torpedo.  Again these had been around since before WW1 but they were now much improved in both reliability, accuracy and power.  When combined with a reliable delivery system, the submarine, they could be devastating.

To counter the threat of the submarine, and to improve targeting of their gunnery the last major improvement was the use of ship board electronics.  The two major elements of this were ASDIC, later called SONAR, and RADAR.  Contrary to popular belief both Britain and Germany had ship mounted RADAR during WW2.

Doctrine
There was some very simple doctrine followed by all sides in naval operations.  

The formation of attack was line astern.  The formation of search was line abreast.

In a battle line the strongest ship was placed at the front.

The object in a naval battle was to maneuver so as to cross your opponents line with yours, called ‘crossing the T’.

In view of the threat from submarines no capital ship, BB/CV or heavy cruiser, should patrol without support units.

Most good commanders, as always in warfare, knew when to throw the book away, Admiral Spruance at Midway for example.

Tactics

Tactics are pretty straight forward.

Hit the enemy, don’t get hit yourself.

Concentrate your fire make the enemy split his.

